Al

Ol &F A

Al A

FA QRS AL
3 EXNH=2(REXNSNL/XAL Al
Rl XIETHZAR2E] EER=E)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
QIS AR 2,303,285 2,251,477 51,808
= 227,197 225,322 1,875
& 28,216 28,216 0
s 2,047,872 1,997,939 49,933
EXNAZZ(ZELX ML/ XNFLEAI) 2,025,415 1,973,633 51,782
= 217,190 215,315 1,875
[ 28,216 28,216 0
= 1,780,009 1,730,102 49,907
KIETHZE AR 2R 982,807 931,025 51,782
= 154,590 152,715 1,875
= 828,217 778,310 49,907
KIZTHZE A 828,217 778,310 49,907
101 QI24H| 18,227 0 18,227
M IRINZZENSE 18,227 0 18,227
OXIETHEAL BEXER@ 2124H|
76,9602 x 12 %160 12,314 0 12,314
ORsmg=+E 76,960 x 1 452 3,464 0 3,464
ORsxIt=g 76,9602 x1H 0 693 0 693
O4lHEE= 16,471,0002 *10.66% 1,756 0 1,756
201 er23| 122,070 90,390 31,680
01 AtR2t2|HI 113,470 81,790 31,680
OZ&EI=E
90,0004 %597. 772 KI*110% 59,180 27,500 31,680
KETHEAHEE) 154,590 152,715 1,875
= 154,590 152,715 1,875
201 LEH2 | 12,553 12,327 226
= 12,553 12,327 226
01 AtR2telb] 8,553 8,327 226
OXIHTZAL E2H & 2SHI(HEA)
137,000 %14 137 137
= 137 137
OXEMZEAL E2H(SEH)
89,000 14! 89 0 89
= 89 0 89
403 TtXI M SAH=01H 140,437 138,788 1,649
= 140,437 138,783 1,649
02 SI12SotHe = E A S AE I 140,437 138,788 1,649
OXIHHZAL SSHI(HEH)
1,649,000 %14 1,649 0 1,649
= 1,649 0 1,649
HRES(LUASAN (RELXANL/RALEAI) 26 0 26
SFSPNES 26 0 26
=2&H BEx3 EHE3 26 0 26
802 grat=DIE 26 0 26
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